Load model, go to mixer:

RIGHT_H[Tows |
LEFT_V[o550% |
RIGHT_V[Goo% |
LEFT_Hlooo%
RUD DRO7005% |

AL DR1 [0 00%
(GEARO 00 30%
(GEAR1 [Fo000%
Mix1 735 00%
Mix2Fo00%

RUD DR1 Fiaooes |
DRO|

FFMODEO 1o 00% —
FMODE1 [Fozoo%
FMODE2 oz o0%

chslows
cheloo
ch7loms
cha [ ooo%

cnolooo%
Ch10[oo% |
cnt [ooow |
cni2[oa% |

RIGHT_HIGoos |
LEFT.

RIGHT V[ sao% |
LEFT_HIoas |
RUD DRO[fowe0s |
RUD DR

[_Movelp |
[ Move Down_|

ELE DROFo o |
ELE DR1 [Ffo0.00%
AL DRO[E755%

Chsleoos
Cne[ooo%
enzlooos
chglcoos

AL DR1 [00.00%
GEARO[00%

FMODE2[ 0555~

cholooow
cntole
cnit[Toos |
Ch12[00% |

Back to mixer to see the result:

(should the mixer channels all have different sources?)

RIGHT_HI c5% | AIL DR1 000w
GEAR1 [0z 505

RUD =

ELE DRO[700.00% |

ELE DR1 70555

AIL DRO[16555% | FMODE210005%
chilooos | chsfooos  cnolooow |
Ch2[wooo%  chelo0o% | ch1o[ooo% |
chalTos | chlows | Chitlo
Chd[ooos | cnBlooos | eni2[ooos

Go into Reorder again, select 1-ELE and click move down once:

RIGHT_HI 5o |
LEFT_VFicas
RIGHT V[ sao% |
LEFT_HIoo0% |
RUD DRO[0000% |
RUD DR1 Freooms
ELE DRO[700.00% |
ELE DR1[-10000% |
AL DRO[E755%

Ch1 [ooo0%
Cn2[5.00% |
Cn3 oo |
Chd[T00% |

Chsleoos
Cne[ooo%
enzlooos
chglcoos

AL DR1 Fiozoos
GEAR1 [0 00%
MXO[o0e%
X1 Froooes
FMODED 0505
FMODE1 Fiozoos
FMODE2[0000%

cnafoa%
cnfoleow
cntt
Ch12[00% |

RIGHT_HIToo% |
LEFT_vFoooes |
RIGHT_V[z5055 |
RUD DRO 00 e0% |
RUD DR1 106 50%
ELE DRO[0050% |
ELE DR1 [Toow |
AL DROFGE50% |
Cit oo 00w
) ol
chafmmmos |
Chal=eo% |

chslows
el
ch7loms
cha [ ooo%

AL DR1 Fozoos
GEARO 05 50%
GEAR1 ot o05

MiX1 Ffoooo%
M2 a0
FMODEO [5000%
FMODE Fozoos
FMODE2 oz o0%

cnolooo%
Ch10[oo% |
Chit oo
cnt2om% |







